sean los polinomios:
Px)=x"-3x  QuX)=-3x"+2x -3¢ Rix)y=3x"-2x+4
Calcula:
al P(x)— Rix) Dy CXx) - R(x) ) CAXY+ Bx) - Rix)
Realiza las siguientes operaciones de polinomios:
a (3¢ - 20— + 3T+ 2 - X2 - 3% +5)
by (x° — 3x)(2x% +3)— (2x — 3)(x — 4)
0 3x* - 2x° + 37 (3- 2% - 2x(2%7 - 3X°)
dy 3x° - 2x%(-3x7 4+ 2x) - (2%° - Sx)-3x +2x7)
Opera:

a) (2x+ 3¢ b) 3x* — Gx)® Q) (2x — ¥

SOLUCIONES

Sean los polinomios: P(x) = x* — 3x; Q(x) = -3x* + 2x” -3x”; y R(x) = 3x” — 2x + 4. Entonces:

a)
P(x)—R(x)=x>-3x—(3x"—2x+4) =x> -3x —3x> +2x—4=-2x" —x —4
b)
O(x)-R(x)=(3x*+2x -3x)-3x¥ —2x+4) =
—9x°+6x°—12x* +6x° —4x* +8x> —9x* +6x> —12x% = 9x°® +12x° —25x* +14x° —12x>
c)
O(x)+P(x)-R(x)=-3x*+2x> =3x> +(x*> =3x)-(3x° —2x +4) =
Bxt 28 3+ Bx -2 +4X -9 + 67— 12x)=
—9x+7x* —12x
a)
(Bx?=2x)-(—x>+3x7+2)—x7-(2x> =3x +5) = (3% +9x* +6x” +2x* —6x° —4x)— (2x° —3x* + 5x°) =
33X +11x* —6x +6x° —4x—2x" +3x* —5x =-5x° +14x* —11x° +6x° —4x
b)
(x*=3x)-(2x+3) —(2x=3) (x —4) =2x> +3x> —6x" —9x —(2x> —8x —3x +12) =
2x7 +3x% —6x% —9x —2x* +8x+3x—12=2x" —5x* +2x—12
c)

3x*=2x7 +3x7 (3 —2x7) —2x -(2x° —=3x%) =3x" —2x° +9x? —6x* —4x* +6x° =T x* +4x° 497



d)
3x° =2x7 (=3x7 +2x)— (2x> = 5x) - (-3x+2x*)=3x"+6x" —4x* — (=6 X + 4x* +15x¥ 10X ) =

3x° +6x° —4x*+6x> —4x* —15x* +10x> = 9x° — 8x*+ 16x°— 15x

Aplicando las igualdades notables

(a+b)Y’ =a” +2ab+ b’
(a—b)>=a"—2ab+ ¥
tenemos que:

a)

(2x+3)° =(2x)> +2-(2x)-3+3* =4x>+12x+9
b)

(=3x>=5x)> =(-3x*)* =2-(=3x")- (5x)+ (5x)° = 9x* +30x>+ 25x>
c)

(2x—=x7) =(2x—x*) - (2x —x7) =( (2 =2+ (20)- @)+ &7 V) - (2 —x7 )=

(4x% —4x> +x*) - (2x —x?) =8x> —4x* —8x* +4x° +2x° —x® = —x° +6x° —12x* +8x°





